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Instructions :
The question paper has 36 questions in all. All questions are compulsory.
Marks are indicated against each question.

Questions from serial number 1 - 16 are multiple choice Questions (MCQs) of 1 mark each.
Every MCQ is provided with four alternatives. Write the correct alternative in your answer
book.

Questions from serial number 17 to 29 are 3 marks questions. Answer of these questions

should not exceed 80 words each.

Questions from serial number 30 to 34 are 4 marks questions. Answer of these questions

should not exceed 100 words each.

Question number 35 is a map question of 2 marks from History and Question number 36 is a

map question of 3 marks from Geography. Attach both the maps in your answer book.
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1.  Which one of the following is true regarding the ideas promoted by Mazzini ?

(a)
(b)
(©)
(d)

Opposition to monarchy and support to democratic republics.
To establish liberty and freedom under a monarchy.
Disintegration of the German confederation under 39 States.
Censorship of newspapers, books, plays and songs.

OR

Which one of the following is not true regarding the role of women in the liberation
movement in Vietnam ?

(a)

The women played a symbolic role in the Movement.

(b) Rebel women of the past were celebrated.
() They built airstrips, neutralized bombs and transported cargo.
(d) They were depicted as warriors and workers with a hammer in one hand a rifle
in the other.
2. Which one of the following is not regarding the reforms carried out by the Union called

Zollverein ?

(a)
(b)

(©)
(d)

Creation of a network of railways to promote nationalism.

Opposition to unhindered movement of goods, people and capital in member
states.

Reduction of tariff barriers in states.
Reduction of number of currencies in Germany.
OR

Which one of the following is not true regarding the Bounty Programme ?

It was related to the rat hunt during the spread of Plague in Hanoi.

The Vietnamese workers were paid for each tail of a rat as proof that it had been
killed.

It referred to the bountiful rice harvest in the Mekong River Delta.

The rat catchers only clipped the tail of the rat and released it.

3.  Which one of the following is not true regarding the Rowlatt Act ?

(a)
(b)
(©)
(d)

It barred Indians from carrying weapons and arms.
It allowed detention of political prisoners without trial, for two years.
Its aim was to give power to the government to repress political activities.

It was passed by the Imperial Legislative Council in 1919.

4.  Which one of the following is not true regarding the Khilafat Movement ?

(a)

A/F)\A
CRONG

It aimed at bringing the Hindus and Muslims together in the Non cooperation
Movement.

It aimed at defending the Ottoman emperor’s temporal powers.
Muhammad Ali and Shaukat Ali led the movement in India.
It resulted in the restoration of the power of the Khalifa of Turkey.
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10.

Which one of the following is not true regarding wind power in India ?

(a) The largest wind farm cluster is located in Tamilnadu.

(b) Jaisalmer is well known for effective use of wind energy in our country.
() Andhra Pradesh and Karnataka have important wind farms.

(d) Andaman Nicobar islands have important wind farms.

Which one of the following is not true regarding the importance of manufacturing
industries ?

(a) They generate jobs in the secondary and tertiary sectors.

(b)  Export of manufactured goods brings in forgein exchange.
() Manufacturing industries encourage trade and commerce.
(

d) The economic strength of a country is measured in terms of the raw material it
possesses.

Which one of the following is not true regarding the Iron and Steel industry in India ?
(a) India is the largest producer of sponge iron.

(b) Most of the public sector undertakings market their steel through the Steel
Authority of India.

(c) Chotanagpur Plateau region has the maximum concentration of iron and steel
industries.

(d) As aleading iron and steel producing country, India does not need to import
steel from other countries.

Which one of the following is not true regarding the changing nature of international
trade in the last fifteen years ?

(a) Exchange of commodities and goods have been superseded by the exchange of
knowledge and information.

(b)  There is no restriction in exporting any thing from India.
(c) India has emerged as a software giant at the international level

(d) India is earning large foreign exchange through the export of information
technology.

Which one of the following is not true regarding the outcome of the April 2006 Movement
in Nepal ?

(

[}

)  Girija Prasad Koirala became the new Prime Minister.
(b) The new laws increased the power of the king.
() The Parliament was restored.
(d) The new laws reduced the power of the king.

Which one of the following is not true regarding the influence of pressure groups on
politics ?

(a) They influence the media and gain public support to influence policies.

(b) They organise protest activities like strikes and disrupt government programmes.
() They are sometimes formed or led by members of political parties.

(d) They do not enter into dialogue or discussion with political parties.
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11.

12.

13.

14.

15.

16.

17.

18.

19.

Which one of the following is not true regarding the government order that makes it
mandatory for an election candidate to declare his details in an affidavit ?

(a) It aims at reducing the influence of criminals in politics.
(b) Itgives details of existing property and criminal cases pending against a candidate.
(c) It aims at reducing the influence of money in politics.

(d) The Election Commission checks these details and cancels the nomination papers
of suspected criminals or if the information is false.

Which one of the following is not true regarding ‘Democracy Reforms” ?
(a) Legal measures can sometimes prove to be counter productive.

(b) The media should play an active role.

(c) Legal measures always help in reforming politics.

(d) Political empowerment and participation of citizens can help.

Which one of the following authorises money as a medium of exchange ?
(a) Reserve Bank of India. (b)  Self Help Groups
() The Central Government. (d) The President of India.

Which of the following is not true regarding the inconvenience of Barter Exchange ?
(a) Lack of double coincidence of want.

(b)  Absence of divisibility

(c) Difficulty in storing wealth

(d) Availability of money as a medium of exchange.

Which one of the following is not true regarding the World Trade Organisation ?
(a) It allows free trade to all countries without any trade barriers.

(b) Its aim is to liberalise international trade.

(c) It establishes rules regarding international trade.

(d) WTO rules have forced the developing countries to remove trade barriers.

Who amongst the following is protected through rules and regulations in the market
place ?

(a) The shopkeepers (b) The manufactures
() The consumers (d) The suppliers

Enumerate any three features of the conservative regimes set up in Europe following
the defeat of Napoleon in 1815.

OR
‘The US intervention in Vietnam proved costly to both US and Vietnam’. Explain.

What was the impact of the First World War on the economic conditions in India ?

In what ways are some manufacturing industries dependent on mineral
resources ? Explain
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20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

34.

What are the three main reasons for shifting of the sugar mills to Maharashtra in recent
years ? 3x1=3

What is natural gas ? What is its advantage ? Name one region of India where its
reserves are found. 1+1+1=3

Mention examples of single issue and long term movements and distinguish between
the two. 1+2=3

‘Democracy is an accountable, responsive and legitimate form of government’. Explain. 3
“Democracy promotes dignity and freedom of citizens’. Explain. 3

How is Myanmar facing the foundational challenge of making a transition to 3
democracy ? Explain.

In what three ways has foreign trade led to integration of markets across countries ? 3x1=3

What are the various ways in which the Multinational Corporations control production
in other countries ? 3x1=3

Highlight any three problems which a consumer may face in the process of redressalg 1=3
X =

Explain how the Right to Information has empowered the consumer of goods and 3
services.

What is the significance of 1848 for France and the rest of Europe ? What did the

liberals demand ? 1+1+2=4
OR

What was the Ho Chi Minh trail ? What does it tell us about the Vietnamese war

against the imperialist forces ? 1+3=4

What were the solutions suggested by B.R. Ambedkar and Mahatma Gandhi to improve
the conditions of the untouchables in India ? What is the significance of the Poona
Pact in this regard ? 1+2+1=4

Why are metalled roads better than unmetalled roads ? What is the role of border
roads and national highways in transportation ? 2+2=4

State any two advantages of the multiparty system. In what way is an alliance different
form a coalition Government ? 2+2=4

Why do the rural borrowers depend on the informed sector of credit ? What steps can
be taken to encourage them to take loans from the formal sources ? Explain any two. 2+2=4
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35. Two features A and B are marked on the given outline political map of India. Identify
these features with the help of the following information and write their correct names
on the lines marked in the Map. 2+1=3

(A) The place remembered for the no-tax campaign.

(B) The place where the September 1920 session of the Indian National Congress
was held.

OR
Locate and label the following items on the same Map. 2x1=2
(i) Champaran where the Indigo workers went on Satyagraha.

(i) Kheda where the peasant Satyagraha took place.

Note : The following questions are for the visually impaired (blind) candidates only in
lieu of Q. No. 35. 2+1=3

(35.1) Name the place which is remembered for the no-tax campaign in Gujarat.

(35.2) Name the place where the September 1920 session of the Indian National
Congress was held.

36. Three features A, Band C are marked in the given outline political map of India. Identify
these features with the help of the following information and write their correct names

on the lines marked in the map. 3x1=3
(A) Terminal station of the East West Corridor.
(B) Oil Field
(C) Thermal Power Plant.
OR
Locate and label the following items on the same map with appropriate symbols.
(i) Kanpur - cotton industry. 3x1=3
(i) Kolkata - major international airport.
(iii) Noida - Software technology park
Note : The following questions are for visually impaired (blind) candidates only, in lieu
of Q. No. 36. 3x1=3
(36.1) Name the state where Kanpur, a major centre of the cotton industry is
situated.
(36.2) Name the state where Kolkata, a major international airport is situated.
(36.3) Name the state where the Noida Software Technology Park is situated.
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1. fFrfated § 9 &1 o see afct g/ fu T foemi & 9wy § 93 72
(a) TSTa=l b1 foriy AR Sreharf-=h TURGT ol THeA |
(b) ST oh T Al Rl T T |
(c) ST uftEs 1 39 Tl § fome |
(d) THER 9, ATeHl, TR Il Bl G|
r9rEr
forraT < Taan eTie | dfeensti ot fien o <y § frefafed § 9 & 1 % 93
TRI7?
(a) Tfecnsti 7 A< § Wichfaer et faE |
(b) T SHM 1 for=iel Afgensdi s AieAme foha |
(c) 3= TarE ufedl o1 fmior foman, sl i FHfteRa foran SR A1a 61 g
d) = g T FER, % &9 H 99 fhe o e u gy ¥ geiier ofR g H ageh off |

2. frefafed | 9 ®F @ %o Scerisd &g S a1 99 17 ar] fhe T gari & a4 § 9
TRI7?
(a) TR I FET oF o foTT Xerel o T o1 FHi0 e |
(b) = T o SgeH, Al 3R ISt & STeny YaTe o ol |
(c) Al H Yook TRl &l HeM |
(d) ST H HETell Sl WA Sl el
3reran
Frefafad o 9§ & 91w dicars wEEd & g5 H 6 T8 § 2
(a) THH Y TS | el @I % SR <98 Uehed 9 |
(b)  ToaaTE SR 1 T8 1 ARA & T 6 9 H Y9 femm w S fean S o)
(c) SHH Y Wi Seel § =1ad i Gd HId oF H o)
(d) IR IS T Had I8 HI IS FRE T IE Bed 9|

3. ok TR & gy B fAfafad 3 9 & 91 FuF 99 T2 § 2
(a) THT YR ol FIHAR W@ 9 Tl |
(b) TE TSHIeR Shfcdl i foAT HehgaT wremy Q1 99 % foted § @ &l 92 a1 |
(c) SR I TSHIfden TfAfATe= Sl S o foTT TXRR ol WfRT <1 o1 |
d) zHH 1919 H THifEe afsraifea wifaa 3 wifka foan o)

4. foarmra <ien & gy # frefafed § 9 o9 o1 w9 76 €2

(a) =HH 3 og 3R TIAHHI 1 STHART < § Tk | A o1 |
(b) SHHI 3T STEHA HHIE i qeehlicTeh VTRl Rl T&T AT o1 |
(c) YRd H Higmg oTelt iR ¥iehd oTeh 1 39 ST=Iei ol Jged fohal |
(d) TG IR kT F GeAThl i wferai st GTefa o |
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5. frefafed § @S9 @1 wuF IR § a9 ol & I § ger e € 2

IR B Yo o1l & foeeran 92t afferrg o feea 7

b) TUR < H Yo ol ok GHEC ST & e SR 1 98 3fas T
) 3Ty Y 3R Felesh § Haed YUl qad Wi |

d) UeAR-fTRER g T8 ¥ Heaqul 9o % R |

(a)
(b)
(
(

6. Trfafaa o @ &iF a1 e fafmior s & Trery § ey el 8 2

(a) d fgditoek iR e & # ISR 91 & €

b) fAfHa sgei & frafa & faestt gar et T

c) fafmior seim =amr iR arfss 1 diearfed e ¥

(d) et To T oTfeleh TSTet 1 THh I U Fed il § HIIT Sl € |

—_ o~

7. TrAfafed § € &1 9 %2 e iR 39 S & 954 § g T8l ¢ 2
(a) YRA TS A H HIY TSI ACH ¢ |
(b)  SATURIY WA &3 o SUHH 7T TG i To5h! LIal AU F FUfeaAT o AIEAH |
F T
(c) I AMR YSR &3 H ©iig R 3eard eI o1 STferehan Hohsul ¢ |

(d) TR 3R TG 1 THE SR B o A0 HRA i 3T ST F $Hoh ST i STTahal
T

8. Trfafed # & & W %o fisdt 15 a6 ST AR &l a5end! Yhid & Trd § ey
TR 8?

g o fafma & M 9 R e & fafa 3 o fomn 7

b) 9RA & fRE off = & frafd W *E gfdey 78 2

) R RN & &7 § L TR W Th A o9 & I g

d) YRd ORI deh-tent i fafa @ o9 THm R g g1 & @ e

(a)
(b)
(
(

9. freAfefad & @ ®F o1 weM que H 19 2006 % <o & < § 9 & §?
TN veE SRiste o quEs o9 |

b) A I A HERTS i Wl aq1 & off |

) fctamve Y QTEiOHT S TE |

d) & A A HEWS v HeT |

(a)
(b)
(
(
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10.

11.

12.

13.

14.

15.

frefafad # § S FUF aa TR 61 TSHITT TR 999 & T § 9 6§ 2
(a) o <ifcai o1 gfad s o forw Sar o1 gmeiA U e 7 Hifean s genfad #d § |

(b) d TS St fdfafeE % wreem | oy Yehe R T IR THRI HIRAhHT Sl T Hd
gl

() -t SR TS 3TN g TSI WAl % Few Hid |
(d) O TSI Tl & e Sa=ia SALa == T8l hd |

fr=fafaa o 9 &9 @1 %99 Te SHIGR R I9Y-97 | 37991 IRT <&R1 Siftd s ol 31famd
T & g H 9 e § 2

(a) TR 35T TSHITT H STIFT o YIS 1 HH AT AT |

(b) ¥E I T IR SHCaRr % fog o W) sTifreh el ot <A < ¥

(c) SHHI I TSHITd H & & YA Sl HH HEAT o
(

d) IS MR 38 =R i S w1 ¥ IR Hiewy STqufeRl sterdn e gEAT 3 At
i T8 T T |

‘SArehdif=reh Guri' o T # frefafed § @ w8 o s g = €2
(a) I U Hei-w 3R fag 2§

(b) wifean sl Gk yfert vt =g

() I U Ted TSHITA B R A § Wk 2 |

(d) TSR TefeReRtor SR ARt st gfawnfiar Tewea R e © |

frefafed & 9 & g1 &1 fafwa & aream & &9 § eiferea wiar &2
(a) T & st sfoean) (b) U R |
(€) HE TWHR (d) WA <1 Tl |

a5 faf e qonelt =t ergfasn & g<d ¥ frafafed § 9 S @1 weF 99 T €2
(a) STERIHAS i IR FAN i HH] |

(b) faursH =t SFgUfEefd |

(c) U (wwafa) whs w § hieTE |

(d) g1 1 faf9a o w1 ok €9 39y BT |

frfafad 9 9 oF W ®oF fova =R 91ed & 9<y # 99 78 © 7

(a) =& Teft TEW 1 o fopedt ATk smen o o SR i erufa I ¥

(b) IR AL AR AR I IR T ¢ |

() % A< IR & e § 9o o €

(d) forea =R Hiad A fashrasiiel S ol ST anensti sl g i W forerer foman |
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16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

frefafad § | o8 aem & foml o) FrAl 9 il §2
(a) THMER (b)  fmioT i | (c) U (d)  smyfeerd |

1815 | JUIferaA sl B8R % o1g gU9 § €A1 ®iedra! Sehri i fohgl i faRIodiet st o
HIT |

arerar
“forgaam H el @ ea sien iR fagaam Sl % forw wem fag gan'' T
HifsT |

Yo fava g 1 R i 3Mfier aRftafal @ o= g9 gen ?

fore T 9 $o fafmio sam af gaeE ) faR €2 =men s

T 9ot H < el % Henre § TEafid 2 o WO i R R § 2 3x1=
Tk T 301 § 2 SHeh R o € 2 WA % forelt W &5 o1 A forfiae stef g5e 9uer g
SIckL 1+1+1=
WE@WWW%WWWW@I%%@HWWL%
" reha= Tk ST, TTERt SR 3 o § 1" 39 M i SATeA Hifer |

* ST ATRERT et TIRHT 3R T ol Sgen <1 ¥ 1’7 TR it |

AR fh YR TAlha—= &t TR S it ATt AN o1 FTHA1 T @I § 2 T i |

o T Rl | faee =AMIR 3 <O o6 S SISTRI ST Uehiehul fohan § 2 3x1=

IS wEfa fohe fafim ol @ gar 39 # Scare 1 Frafa e €2

TorenTara fHamor st Ui § ST arelt Tl diF THEneTl ohl SSIPR ahifeTu fS=enT T SqTerT
I T TS Tohell © 2

T ST foh gt oIk Hansti o SuHe ol T o ATHR 7 Fhe Jort TR fohan 82
T qe I AT F T 1848 T FN Hed T 7 SIRATEAT i A AT off ? 1+142=
reraT

A = i - yorn et R o ? % B e drskdl o foeg fomart g o fova | =

S ? 1+3=

IR B 1dl i feafa 1 gura % fau ote1R. sTeiga iR Here Tt ¥ B ¥ uee

gomu ? 39 ge H IA1 Yo T 9 Hed © 2 1+2+1=
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32. ol HSh hodl TSI i gorl B 1 oeck § 2 Uikaed H HHid 9l IR U JASrIw i
wsﬂ'ﬁm%? 2+2=4
33. gL YUMEH & s o oy faf@u | Te Tea=F iR fael Seft SRR (T3ere WHR) &
o9 fhE TR &1 3R T ? 2+2=4
34. TTHIOT U ST & o R0l R @ R 2 € 2 siioeniies Eidil | R0 o W faw 3%
IcAfEd A o T HeH IS S Hehd & 2 TRl < ol T wifSrw | 2+2=4
35. fou gu wRa o @ AHfes W A 3R B W g1 foumand faf=d &t 7€ €1 9§ T SIHER &
SMYR R 37 fomivaiedi &l ve=m sifee iR gmfes § fafza Yensii w 76 w&t W fafen |
(A) ‘-l A % fag AR T 2x1=2
(B) % TIM &l RS THH i hl Faams 1920 1 SIS g o |
SrEr
eu gu vmfes W & FAfafed o Tuisd iR 37w T8l W farau | 2x1=2
(i) RO - ST A Bl S del A  Gemg R o
(i) Wl - SR fHEM HmE 5ot o |
e : Frefafea uoa gieds wienfet & fag uv wmis 35 & T W) 2x1=2
(35.1) 3 T 1 A9 fafee St eI § ® 9o o wd - Afvae % fa S S 2
(35.2) 9 TN w1 TW fafEw Sl 1920 § IR WSET R H1 SR A o1
36. TEUTT 9YRA & W@ AAFTA W A, B 3R C R i fosioand fafed o6t 7 €1 = <t T SRy
& YR W 31 fa9mael = wgaH Sifen IR getes w fafed et ® 39 wE AW
fafew) 3x1=3
(A)  QE-Tfe=H A 1 SAf<H ®eF|
(B) T & |
(C) oI¥d 9 @i | (79 e )
SrerEr
feu gu wmfes W & U dordl o w1y fr=fafea w1 gulsd oij 37 92 7w fafaw |
(i) Y - T HEST T
(i)  hIcTehdl - JHE fodM 9 |
(iti) TST - ATFRAIR SIS UTeh |
e : FrAfaiEa uoa e gied wenfeial & faT uva wHieh 36 o T W ) 3x1=3

(36.1) U {9 1 T fAfET ST ot ISl ST H YA hg FER T |
(36.2) 39 T o1 A4 fAfEn <Rl T RIS famm w sietsh feed ¥
(36.3) U U9 o1 M fafaw Sl WreereR ST areh Hreet feod ¥
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